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Solve each problem.

1) 5 - (-8) =      13     

2) 1 - (-3) =      4      

3) 9 - (-8) =      17     

4) (-7) + 6 =      -1     

5) (-573) + (-198) =     -771    

6) 615 - (-984) =    1,599    

7) (-14) + 96 =      82     

8) (-99) - (-77) =     -22     

9) (-2) - (-9) =      7      

10) (-7) - 8 =     -15     

11) (-6) - (-8) =      2      

12) (-8) - 5 =     -13     

13) (-3) + (-5) =      -8     

14) 59 + (-35) =      24     

15) 467 - (-676) =    1,143    

16) 97 - (-29) =     126     

17) 380 + (-825) =     -445    

18) (-894) + 829 =     -65     

19) 7 + (-5) =      2      

20) (-654) + (-968) =    -1,622   

Answers

1. 13

2. 4

3. 17

4. -1

5. -771

6. 1,599

7. 82

8. -22

9. 7

10. -15

11. 2

12. -13

13. -8

14. 24

15. 1,143

16. 126

17. -445

18. -65

19. 2

20. -1,622
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Solve each problem.

1) 5 - (-8) =      13     

2) 1 - (-3) =      4      

3) 9 - (-8) =      17     

4) (-7) + 6 =      -1     

5) (-573) + (-198) =     -771    

6) 615 - (-984) =    1,599    
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18) (-894) + 829 =     -65     

19) 7 + (-5) =      2      

20) (-654) + (-968) =    -1,622   
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3. 17
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Solve each problem.

1) 5 - (-8) =      13     

2) 1 - (-3) =      4      

3) 9 - (-8) =      17     

4) (-7) + 6 =      -1     

5) (-573) + (-198) =     -771    

6) 615 - (-984) =    1,599    

7) (-14) + 96 =      82     

8) (-99) - (-77) =     -22     

9) (-2) - (-9) =      7      

10) (-7) - 8 =     -15     

11) (-6) - (-8) =      2      

12) (-8) - 5 =     -13     

13) (-3) + (-5) =      -8     

14) 59 + (-35) =      24     

15) 467 - (-676) =    1,143    

Answers

1. 13

2. 4

3. 17

4. -1

5. -771

6. 1,599

7. 82

8. -22

9. 7

10. -15

11. 2

12. -13

13. -8

14. 24

15. 1,143

1-10 93 87 80 73 67 60 53 47 40 33
11-15 27 20 13 7 0
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